UNEEK

AUSTRALIA

OFF ROAD ACCESSORIES

Jeep JK Wrangler
Flip Table

Australias Best Off Road Producits
Creafted... Not Cloned



Contents

WHY UNEEK
COMPONENTS AND PARTS
STEP 1

STEP 2

STEP 3

STEP 4

STEP 5

STEP 6

OPERATION

NOTES

FINISHED PRODUCT



Why Uneek

Australian Designed and Built

All our products are designed and manufactured right here in Australia, allowing us to have
better lead times and better quality control than companies manufacturing overseas. By
supporting us you’re supporting to grow the Australian economy and our brand.

Uneek Styling

We do not design our bars to look the same across the vehicle range. We fully develop our
own product to individually suit each vehicle. We take time in designing from scratch and
then test all our bars to comply with all relevant ADRs and Australian Standards.

Lightweight Through Smart Engineering

Having a steel bar doesn’t mean you have to add more weight than is required to the front
of your vehicle. Our engineering practises ensure we have the right protection, designed the
right way to ensure protection is at its maximum and weights at its minimum.

Proven Off Road

We take our products out and test them right here in the heart of our country in our
Australian conditions so we know our products can withstand anything you throw at them.

Increased Approach Angles

Our bars are designed to give you the best advantage while off road, with increased
approach angles means you can tackle those tough and steep angles better than you could
with the original setup or other alternatives.

Warranty

Uneek 4x4 back itself as Australias leading steel bull bar manufacturer. This is why we
provide you with the best steel bar warranty in Australia - 5 years.



Componenis and paris

Please Note: This table is made from 316 marine grade stainless steel, and will
not rust or corrode. It is designed to fit the rear door of a JK wrangler with the
sub woofer still fitted. It will also fit other vehicles. Always be careful with
pinching fingers in-between the table when closing it.

CONTENTS
- 1 off, pre-assembled tailgate table assembly
- 1 off, fastener kit
- 8 off, M6 threaded inserts
- 8 off, M6 x 20 hex bolts
- 8 off, M6 flat washers

- 8 off, Self-taping screws



Step 1

Ensure that instructions are read start-finish before proceeding and that all fasteners listed
above are supplied.

Step 2

With the tailgate table assembly in the 'open' position, locate the table as shown in Figure
1.

Top edge aligned with top edge of
Right edge
Plastic cable covers on tailgate aligned with
right edge of
Plastic cable
covers on
tailgate

Figure 1: Locating Tailgate Table Assembly

Once located correctly, the tailgate assembly should have approximately 5mm clearance
below the plastic cable cover on the tailgate assembly. Ensure correct fitment before
proceeding.

Step 3

You can either use the self drilling self tapping screws or if you have a nutsert gun install
the mé6 nutserts. With the self drilling and tapping screws simply line up the table and drill
them in, for using nutserts refer to directions here for steps 3-6. With tailgate table
assembly aligned on the tailgate, mark each of the 8 mounting holes with a marker. Remove
the tailgate table assembly and place to one side.



Step 4

Centre punch each of the 8 mounting holes marked in Step 3). With a step drill (or stepped
approach using standard drill bits) drill each of the 8 holes to @#9.5mm. Ensure that each
hole is de-burred and any bare metal is coated with paint and allowed to dry before
proceeding.

Step 5

Insert and set an M6 stainless steel threaded insert into each of the 8 mounting holes. Use a
M6 threaded insert hand install tool to fit.

Step 6

Align the tailgate table assembly to the mounting holes. Attach the tailgate table assembly
to the tailgate using an M6 stainless steel flat washer, M6 stainless steel spring washer and
M6 stainless steel spring washer at each mounting hole.

L)



Operation

1) Pull outwards the indexing plunger knob on one side only, rotate 1/4 turn in either
direction and release the knob. The knob will locate in its 'rest' position. Complete this same
procedure on the other side.

=N

Figure 2: Indexing Plungers

2) Slowly fold the table section down into the 'open' position. The folding table section is
self-supporting.

3) Enjoy the ease of using your new table surface.

Noftes

1) Yes, the folding table section locates quite firmly against the rubber bump stops on the
table frame. The folding table section may require some manipulation to allow the indexing
plunger to locate into the slot on each side of the table. This is intentional, and removes any
possibility of vibration, even over the roughest terrain.

2) The hinge assembly and indexing plunger holes have a small margin for locating the hinge
assemblies or indexing plungers. Once installed, your tailgate table may require slight
adjustment in these holes for correct alignment.

3) As this table is self-supporting, you should endeavour to minimise any weight placed on
the table. Heavier items should be placed towards the rear of the table surface to minimise
any possibility of bending or damage to the tailgate.



Finished Product




Revised: 27/08/2019

Australias Best
Off Road Producits
Created... Nof Cloned 1800 806 952

www.uneek4x4.com.au



